PROBABILITY 3 ( 14/12/2023)

Thursday, December 14, 2023 6:42 PM
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54. Three players A, B and C agree to play a series of games observing the
following rules : two players participate in each game, while the third is idle, and the game is
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to be won by one of them. The loser ¢ game is taken
in each game quits and his place in the nex

w \r; !m ’IO vas "” . The player who suceeeds in winning over both of his DPPD”QM}S

- 1out interruption, 1oins t! wole scries of games. Supposing the probabiltlies for each
player to win a single nd that the ,? st game is played by A and A and B, find the
P ”‘P:abt::) for A, B an d C respectively to win the whole series if the nu mber of games is l‘
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[+ Of%{udependem events, the chance that the first only should happen is _
a, the chance of the second only is b and the chance of the third only is c. Show that the ( ) _ 5/* L—‘
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independent chances of the three events are respectively : ﬂi < bb? ' CC? '
/
where x is the root of the equation : ( C )" ‘ ~ S7c4 ,‘@
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m A thief has a bunch of n keys, exactly one of which fits a lock. If the thief
open the lock by trying the keys at random, what is the p J:‘Jabiﬁt I:‘ml rcqm' s
 k attempts, if he r he keys already tried ? Fi robab
he keys already tri
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*. A bag contains (n + 1)

n bo J J s whereas the remaining ©
d is tossed. Ifi probability that the tos
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@. A and B are two very weak students of Statistics and their chances of C , ) PA' | @ §WV‘-C 6“/
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solving a problem correctly are 1/8 and 1112 respectively. ability of their making a
common mistake is 1/1001 and they obtain the same answer, find the chance that their
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